SCHEME OF EXAMINATION

Subject Code	Subject	Hrs.	Exam Dur.	N.	Iaxim Mark		Credit		
,	,		(Hrs.)	CA	CE	Total	Points		
First Semester	First Semester								
	Part I								
18UTALB101 /	Tamil I /								
18UHILB101/	Hindi I /	5	3	25	75	100	3		
18UFRLB101	French I								
	Part 1	I							
18UENLB101	General English I	5	3	25	75	100	3		
	Part I	II							
18UCOM101	Core I: Principles of Accountancy	6	3	25	75	100	5		
	Core II: Business								
18UCOM102	Organization and	6	3	25	75	100	4		
	Management								
18UCOA101	Allied I: Economics	6	3	25	75	100	4		
	Part I	V				1			
18UVE101	Value Education I: Yoga	2	3	25	75	100	2		
	Total	30				600	21		
Second Semeste	er		I	l					
	Part	I							
18UTALB201 /	Tamil II /								
18UHILB201/	Hindi II /	5	3	25	75	100	3		
18UFRLB201	French II								
	Part 1	I							
18UENLB201	General English II	5	3	25	75	100	3		
	Part I	II				l			
1011COM201	Core III: Financial		2	25	75	100	_		
18UCOM201	Accounting	6	3	25	75	100	5		
18UCOM202	Core IV: Executive Business	6	3	25	75	100	4		
160CON1202	Communication	0	3	25		100	4		
18UCSCOA201	Allied II: Office Automation	4	3	25	75	100	2		
10000011201	for Business	4 3		20	75	100			
18UCSCOAP201	Allied Practical I: Office	2	3	40	60	100	2		
30 00 00 111 201	Automation for Business					100			
	Part I								
18UVE201	Value Education II: EVS	2	3	25	75	100	2		
	Total	30				700	21		

Third Semester	•						
	Part II	I					
18UCOM301	Core V: Corporate Accounting	6	3	25	75	100	5
18UCOM302	Core VI: Business Law	5	3	25	75	100	4
18UCOM303	Core VII: Indian Banking	4	3	25	75	100	3
18UCOM304	Core VIII: Principles of Auditing	4	3	25	<i>7</i> 5	100	4
18UMACOA301	Allied III: Business Mathematics and Operations Research	4	3	25	75	100	4
	Part IV	1					
18UCOSB301	SBC I: Financial Services	2	3	25	75	100	2
	NMEC I	2	3	25	75	100	2
	Non Cre	dit					
18ULS301	Career Competency Skills I	1	1	-	-	-	ı
Add - on Course		2	3	-	-	-	1
	Total	30				700	24
Fourth Semeste	er						
	Part II	I					
18UCOM401	Core IX: Advanced Corporate Accounting	6	3	25	<i>7</i> 5	100	5
18UCOM402	Core X: Company Law	5	3	25	75	100	4
18UCOM403	Core XI: Banking Law and Practice	4	3	25	<i>7</i> 5	100	3
18UCOM404	Core XII: Financial Market		3	25	75	100	4
18UMACOA401	Allied IV: Business Statistics	4	3	25	75	100	4
	Part IV	7					
18UCOSB401	SBC II: Principles of Marketing	2	3	25	75	100	2
	NMEC II	2	3	25	75	100	2
	Non Cre	dit					
18ULS401	Career Competency Skills II	1	-	_	_	_	-
	Add - on Course	2	3	-	-	-	-
	Total	30				700	24

Fifth Semester									
Part III									
18UCOM501	Core XIII: Cost Accounting	6	3	25	75	100	5		
18UCOM502	Core XIV: Indirect Taxation	5	3	25	75	100	4		
18UCOM503	Core XV: Income Tax I	5	3	25	75	100	4		
18UCOM504	Core XVI: Accounting Package for Commerce	3	3	25	75	100	3		
18UCOMP501	Core Practical I: Accounting Package for Commerce	2	3	40	60	100	2		
	Elective I	5	3	25	75	100	4		
	Part I	V							
18UCOSB501	SBC III: Business Research Methods	3	3	25	75	100	2		
	Part \	V							
18UCOE501	Extension Activity	-	-	_	-	-	2		
	Non Cre	edit							
18ULS501	Career Competency Skills III	1	-	-	_	-	-		
Total		30				700	26		
Sixth Semester									
Sixth Semeste	r								
Sixth Semester	r Part I	II							
18UCOM601		II 5	3	25	75	100	5		
	Part I Core XVII: Management		3	25 25	75 75	100	5		
18UCOM601	Part I Core XVII: Management Accounting Core XVIII: Financial	5							
18UCOM601 18UCOM602	Part I Core XVII: Management Accounting Core XVIII: Financial Management	5 5	3	25	75	100	4		
18UCOM601 18UCOM602 18UCOM603	Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce	5 5 5	3	25 25	75 75	100	4		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601	Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical	5 5 5 3	3 3	25 25 40	75 75 60	100 100 100	4 2		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601	Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical Project and Viva- Voce	5 5 3 3 5	3 3 3 3	25 25 40 40	75 75 60 60	100 100 100 100	4 4 2 3		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601	Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical Project and Viva- Voce Elective II Part I SBC IV: Labour Laws	5 5 3 3 5 V	3 3 3 3	25 25 40 40	75 75 60 60	100 100 100 100	4 4 2 3		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601 18UCOMPR601	Part I Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical Project and Viva- Voce Elective II Part I SBC IV: Labour Laws Non Cre	5 5 3 3 5 V	3 3 3 3 3	25 25 40 40 25	75 75 60 60 75	100 100 100 100 100	4 4 2 3 4		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601 18UCOMPR601	Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical Project and Viva- Voce Elective II Part I SBC IV: Labour Laws Non Cre Career Competency Skills IV	5 5 3 3 5 V	3 3 3 3 3	25 25 40 40 25	75 75 60 60 75	100 100 100 100 100	4 4 2 3 4		
18UCOM601 18UCOM602 18UCOM603 18UCOMP601 18UCOMPR601	Part I Core XVII: Management Accounting Core XVIII: Financial Management Core XIX: Income Tax II Core Practical II: Commerce Practical Project and Viva- Voce Elective II Part I SBC IV: Labour Laws Non Cre	5 5 3 3 5 V 3	3 3 3 3 3	25 25 40 40 25	75 75 60 60 75 75	100 100 100 100 100	4 4 2 3 4		

ELECTIVE I

Student shall select any one of the following subject as Elective in fifth semester

S.No	Course Code	Semester	Course
1.	18UCOEL501	V	Entrepreneurial Development
2.	18UCOEL502	V	Human Resource Management

ELECTIVE II

Student shall select any one of the following subject as Elective in Sixth semester

S.No	Course Code	Semester	Course
1.	18UCOEL601	VI	Business Environment
2.	18UCOEL602	VI	Business Ethics

Advanced Learners Course (ALC)

Students with no history of arrears still third/fourth semester and securing first class mark are eligible to do the below mentioned subjects as Advance Learner Course in fourth and fifth semester respectively.

S.No	Sem	Course Code	Name of the Subject	Credits
1.	V	18UCOAL501	Business Finance	2
2.	V	18UCOAL502	Marketing Research	2
3.	V		NPTEL, NSE, MOOC, SWAYAM	2

FOR COURSE COMPLETION

Student shall pass:

- Part I (Language) and Part II (English) papers in first and second semesters.
- Value Education Courses Yoga and Environmental Studies in first and second Semesters.
- Add on course in their second year of study.
- Non Major Elective Course in the third and fourth semesters.
- Skill Based Course in the third, fourth, fifth and sixth semesters.
- Career Competency Skills in third, fourth, fifth and sixth semesters.
- Extension activity in fifth semester.

TOTAL CREDIT DISTRIBUTION

Component	Subject	No of	Maximum	Total	Credits	
Component	Subject	Subjects	Marks	Marks	Credits	
Part I	Language	2	100	200	6	
Part II	English	2	100	200	6	
	Core	19	100	1900	79	
	Core Practical	2	100	200	4	
Part III	Elective	2	100	200	8	
Tait III	Allied Theory	4	100	400	14	
	Allied Practical	1	100	100	2	
	Project	1	100	100	3	
	SBC	4	100	400	8	
Part IV	NMEC	2	100	200	4	
	Value Education	2	100	200	4	
Part V	Extension Activity	-	-	-	2	
Non Credit	CCS	4	-	-	-	
	Total	45	-	4100	140	